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Genetics Chapter Review!

1. Whatis heredity? __ 7#e f?@’i’“}’f o fraits fmﬁ? fﬁd!fﬁﬁ? f?&f?ﬁfpﬁwﬁ
2. What is genetics? The  SCienoe Tt Shudies 'ﬁ’u /QW? of %éfeds‘%;;

3. Who is the “Father of Genetics"? éy‘:@,ﬁaf f’?’ﬁff”sf?ﬁr{ what organism did he study?
DLa ?iaw

E ) 4A condensed package of DNA found in the nucleus of eukaryotic cells. A. Traits
§ 5. The form of the trait that is hidden or masked B. Alleles
e ' -

J 6. The physical characteristics or appearance that results from the C. Genes

organism’s genotype
D. Chromosomes

L 7. The factors that control traits
e s E. Dominant

E§ 8. Different forms a gene may have for a trait
F. Recessive

é? 9. Two identical alleles for a given trait (AA, bb, CC, dd)
G. Homozygous

I 10.The genetic make-up or alleles an organism possess

H. Heterozygous

11. Two different alleles for a given trait (Aa, Bb, Cc, bd)
I. Genotype

A 12. Inherited characteristics that are controlled by genes
J. Phenotype
£

13. The form of the trait that almost always shows up

For questions 14-19 write if the genotype is homozygous dominant, homozygous recessive, or heterozygous, -

1#.RR__No, 4 15. Hh he
16.0q____he 17. ee he, v
18.TT Efm?y d 19. bb m?, -

20. In red pandas, red fur is completely dominant to white fur. What genotype(s) would represent red fur?
, Kr

21. In tarsier monkeys, big eyes are completely dominant to small eyes. What genotype(s} would represent small eyes?

bb




Sominant Gene

Cloft Chin Na {lefl

Widlow's Peak Mo Witlow's Peak

Dimphes No Dinplas

Horkde Hair

Frackies No Freckles

22, Allison’s mother and father both have dimples
however, she does not. She is worried that she was
possibly switched at birth! Is it possible for two parents
with dimples to have a child W|thout'r‘

ot ssibvle
If so... ‘@“@y: @@ ? i{m i

What is Allison’s mother’s genotype? pd

What is Allison’s father’s genotype? DA

dd
d
Di
dd

What is Allison’s genotype?

Py
d

)
d

23. How many phenotypes are expressed in incomplete

g’w wiﬂ% %Mﬁ

¥
{;ﬁ oz ?W’u

dominance?

24, What is codominance?
both allelis Show vp = boin are
{'j@?’?’imﬁﬁf

25. What is the best example of codominance in

humans? bz’ﬁfﬂf ?1?;9&

26. What genotype(s) would show cleft chin?

((:'Ce

27. What genotype would show no widow's peak?
s/ : '

28. What genotype would show blonde hair? &l b

Write the possible phenotype for questions 25-29:

29.00 __ Dimphes

30. cc ne Cleft

31 Ww___ Widews prak
32. FF froclise

33.Bb Emwﬁfﬁfgﬁk hair

34. Look at the chart, how many dominant traits do you

have? 5 Z

recessive?

=
e

35. What does a Punnett Squere show?
the Drobabilites of the allihe that
£ ﬁ?@é"bn‘?g will veoeive

36. What is Probability?
~+he Posgikility, of an Gﬂﬁm‘faﬂ% (31@

A %gadj ;%%a} a ?ﬁfﬁﬁuiﬁé’ dyint

will gcevr
37. Whatisa mutation?

a Pgiw' gyt @hawg& it DNE

38. What is an example of an inherited trait?

23 ¢ col or, gkin Ol oy hair “i"%—i?&
widgws fmk Frecitles, dimples

39. What is an example of an acquired trait?

a gkill or falent Haat Esfiiﬂ/ﬁvgzzdi

gﬁﬂ!%w , EPE. \Zy‘ gvﬂw
40. What is an exam p!e of a harmful mutat:cmTJ ﬂﬁb

A41. What is an example of a beneficial mutataon?fﬁ%

faﬁmf Deak i bivds. white for colsr 702
Fhe Timdra

42. Chromosomes are made up of condensed

@Nﬂ . Sections of chromosomes that code for:

particular traits are called ﬁgm f .




43, In rabbits black fur is dominant to white fur. However, there is a 3™ phenotype of grey fur which is found in
heterozygous rabbits. If a blank grey rabbit is crossed with a black rabbit. What are the genoéypes anc“shenotypes of the
C

notential offspring?

Genotypes: CgCﬁ { 6 Ratio: 5%/5”@

Phenotypes: Ratio: 5%’/{@

black, 4rey
(7

B

(*cP

Cﬁ' Cﬁf\i

@ﬁ

8¢

C‘ﬁcw

In sun bears, long tongues are completely dominant to short tongues. The mother is homozygous dominant for long

Lo —

tongue and the father has a short tongue. £ £
LL

45, Do a Punnett Square to determine their potential offspring.

Probability of long tongue? __ /2L %

%

44, What is the mother’s genotype?

Probability of short tongue?

{

/

what is the father’'s genotype?

24

L

L

Lf

LE

L

LL

46. One of the sun bear’s female offspring mates with a short tongue male. What is the genotype of the sun bear’s

offspring? £ 2 L AL
47. Do a Punnett Square to determine their potential offspring.
§e

Probability of long tongue? %
_fo

Probability of short tongue? %

A
b4

L

LA

V4

174

49. Normal red blood cells are dominant to sickle shaped red blood cells. If an individual has all sickle shaped red blood

cells they are said to have Sickle Cell Anemia. Two parents are both carriers for the trait, what

f= n@wmwé
n = Siekle

for their offspring?

Na

Genotype of Parents:

the possible outcomes

N

L4

N

NN

N

/ riormal RBCs. ?&im o, |} Sickleecht
28 % 56 % 287
What is the advantage that carriers have? fmma;mf? ta Fhalavia

Phenotypic Results:

n¥i

o

50. What tool is that?

Dediaree.
¢ o

51. How many generations?

52. What shape is male?

49?@%?’«0

L) [ MW en
% lfm

53. What does a carrier female look like:

54. How many affected males? __ /&0

O tomatamn

| B

O canr oot

55. How many carrier females?

T7] Mo chod by ey,







